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uilthnrlnlurh hhuurh urhg\urgrltuh rlrutnE. o[rE_h durilE

1.1. *UlIQtrq-qZUqetr-21/4 
" btub\tuqpn{ qhruh2ilurh hurpgilurh r.lurutrtu\hgtrhph U"nilhg

trhp\ulurgtlurb rfruuururprlphFh qhuhurtntiurh urprllnrhphbpfr tuilrlnrlriluh hfruup
\tu3tugblh 2021prlur\urhf rlrhrnptlurpfr 24-frh, drurlp 11:00-|rh, Ulnr-hirpfr.f*Fq,p.Qnpfru,
Qp.Stuptrurglr 3 I hurughnril:

Cb4nrbtlblt npn2nui' \"q.f' 3, 4hri 0:

hurutnururulurh rlurulrh

2.1 Ltp\ultugtlurE qhrul|rb tunur2urp\hhpir hilirutr rlpru hurh&trurdnlnrlp npn2hg'

tu) I tnhrl qpurrlhgbnq dutrur2hl.

<LruururlJr $*F.tr U(IQ - 6,14,15,18,19,26,32,35,45,49,50,51,52,55,60,6I,22,7 4,BI

2ullruprudfrLbhpfr hurtftup

<Up$urprftugfrtu>OtrC - 1,3,5,1I,21,29,36,59,62,78 2rurlrurpudfrhhhpfr hurtlurp

. Lh\{nn t OtrC - I 0, 1 7,28,68,7 9,80 2rur}nuptudtrfr hruilurp

<QhUf Qh > U.[C - 16,22,30,37,38,4I,43,67,7 0 lu']rupurdf trhhp]r hurtlup

<Sntrnru-I-hu> U'IIC - 24 2rur]rurpurdhfr hulftup

<Lb3r{n> U'[IC - 25 2ullrurpudhfr hurtiup

<ulbu-Slrl-u hu'[nfs> otrc - 27,54,56,57 2ul]rurpurdfhtrhpfr hurr.Iurp

< UprfhhQiupil> UTIC -40,69 2r.u rlrurptudfrUhtplr hurilurp

<I)frfuuitp-Lurr-ippnh> Zp UqC - 53 2ulJrupudhlr hurtiurp

<U3 $UflIU> U.[IQ - 66 2rurfrurpurdhlr hulirup



p) II urhrl qprurlhghnrl du:trur2h1.

<Lu-^nurfr S-p,It u'l"Ic - 2r,43,5 4,56,57 2tur]rruprudfrtrtrhpfr hu^Iurp

< Up$ur ptiru glru > (D trC -l 4,27,45,81 2u'lrurprudfrtrhhpfr hurtlurp

. .Lhh.lnp> @trC -26 2urlrurpudhfr hurtftup

< thUI. Ih > U'IIC -5,6, 1 5,25,6I,66 2u'jrurprudfrtrtrhplr hu*Iurp

-' <Sntrnru-I.tur UAC - 78 2ullrtuptudhfr htutlup

< IIL$U- SUf U hLIqnlS> OtrC - 1 0,5 0,5 1, 5 2,55,62,7 g,80 2ul]rurprudfrtrhhpfr hruriurp

<Ohn$upilur frilqnpur> U.[C - 16 2ur{rupur<}hf huriltup

<ftfrlurnhp-I-u*Ippnh> ze uqc -49,592u'|^uprudfrtrrrhpfr huilrup

<f'U'IIb.FU> U'tlQ - 74 2rurlrurprudtrfr hu^iurp

q) III nhrl qpuqhghnrl dtutlu2hl.

<Lurtnru$ $-Frb U.tIe - 62,78 2rurlruprudflrhhpfr hurttrup

< Up$urptfu gfrru > @ trC - 15,66 2ulfruprudlrhtrhplr hrur-iurp

<9hUf9h> U'IIQ - 14,26,27 2ul{llptudfrhhhpfr hunlurp

<Snhnru-Lhu> U.I'IC - 6 2unlnupurdtrfr hur_iurp

<fuu2qrup> UAC - 74 2rur]rupurdhfr hu-nirup

<ftffutnbp-I-rurippntr> ze uac - 50,51,52,54,61 lullnupudfrrtrhpf hturiurp

<UnLnhUbLS> U.rlC - 5 2ur$urpudtrfr hunlurp

4) IV rnhl qpurrlhghnl dtuhu2h1.

<Lb3r{n> U'[IQ - 14 2rurfrurptudli}r huniurp

<Ilfrlurnhp-I-u*Ippntr> zp uac - 62,66 2u^|rurpurdfrrrtrhpfr hrurlurp

<UnLnhUbLS> U.rle - 7g 2ullrurpurdhir hurilup

Qh4nr-tllhlL npn2nr_rf' \"ttrl. 3, 4hri 0:



3. Zurh&Lurdnqnqg nlrn2 hg

3.1. Zurh&htudnrlnt{pnpn2hg hurlpnrl ilurutlu\frg duhru2hl

<Lurtnurflr $*p.l' u'rlc - 6,14,15,19, r g,26,g2,25,45,49,50,51,5 2,55,60,6r,72,74,gr. 2ulllupurdlrhhhpfr hrutlup

<Irp$ruptlurgfru:>@trc - 1,3,5,r r,2r,29,36,5g,62,28 1u'|rupudfrtrtrhpfr hu^iup

;.. .Lh!r]oft> @trC - I0,I7,28,68,79,80 gnlrurpurdhf hurlurp

< thUf Qh > UQn - I 6,22,90,97,3g,4\,4g,67,7 O 2ru rfrupurdfrhtr hplr hurlurp

<Snhnru-I.hu> U.[C - 24 2tur]rurpudhfr hrutftup

<Lb3r{n> U,l-lC - 25 2rur}nupudhfr hurilurp

<ul$u-bufu ht-rqnl-s> otre - 27,54,56,57 2u'frtuptudlrrrtrhpfr hrurftup

<Upilhh$tupil> U'[C -40,69 2tur]rtupud]rtrhhplr hturftup

<Ofrfutnbp-I_utfppnh> Zp UAC - 53 2unfrupudtrfr huilurp

<U3 bUI.UII> U,rIC - 66 2ru$uprudhf hunirup

3'2' Zuruurulnhl qurltftult*qhP ltrphlnr tttuufrh npn2riuh hruSnurprupnrplurh urhpuup:
3.3. .l-lurltfruhuqp

qhtuh2iltuh hurpgriuh urqFnq

urtlrupnfrg hhurn trtp\ur1 tf\hurlr

Ctrrlnr_htl\ t npn2nril. \rlrf' 3, rlhrl 0:

i_ ::*d''qttlh 
hur2np4 hfrutnfr urh\ugriurl, opE,d-riu lr.l*:nn npn2hlnr- tiuru[rr.

Chlnr-h{{ h npn2nuf' \r.f.l. 3, rlttl 0:
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Ll.,n 0 (r.up n L p1n r 01ur 0
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.UUQ,FrI-Q2II'UeF21/4> burb\urqrn{ qtlutr2riurtr hurpgrjutr ti}r2ngn{ qbnnl lluurtuphlnr_

phprugurlilupqlr rlfrurchuttruhur\*r putru\gmplmtrt-rhplr trfruurlr
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. 1.llfudunftuhurfuur purtrur\gnr-p3mtrtrhpfr urhg\tugrfurhhr4urtnrulfmlburbmgtlQ hU qz-h
trhp\urprgpurb FnLnF tfuruhur\|rgltttnn.

1.1 Ufrudulftuhu\1ur pruhru\gnrplnr_l-rtrhpfr hlrurnfrtr'

tu/ <9hUfQh> IJ'l'lC \uruurphl h qhfr tllurqhgnrtf, runur2urp\h1ntl hhtntrlruf qtrhnn'

?u:rlupudhb 22 - ptr4hurtrnlp qhhp -430000lpuli

?urfrupurdlrh 3T - phrlhtuhnrp qhhp - 29520 rlFuni

p/ <Lulnurth S-n.lt UtlC \ruuruphl t qhfr h{ruqhgnril, runur2urp\h1n{ hhrntrltulqlrbnn'

2turlnupurdhh 55 - ptr4hurtrnrp qhLE -7200004prut1

?rur]rurpurdbL 60 - phrlhurtrnln qbhp -1560004pruil

q/ <Up$ruptfurgfrur> @trC \urtnurphl L qtrfr tn{urqhgnnf, urnur2urp\h1ntl hhtntrlurl qlthnt'

?urfnupuid]rtr 1 - ptrrlhruhnrp qfrtrp -800000 qpuil

?ru{ruprudhtr 29 - ph4hurLnll qhLD -706200 r}Furil

r.2 2,4,8,9,12,13,20,31,34,39,42,47,63,64,65,79,75,26,77 2ullruptudlrtrhhpfr hunlurp qhhnh
tr{ru qhg n.I 2fr \ru urruptlhp 2rur}ruprudfrhhhpp hru riru phl 2\urJ ur grub :

Ch4nrtrtltlt npn2nrr.i' hr.lrf' 3, 4hri 0:
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2' 'UUQtrq-qZUqeF2l/4" bub\uqPnq qLurh2rluh hrupgilurL illr2ngnrl qhnril \ruuiurphlnr-
ptrptugur\urPqh ull\Jnrhptrhpfr rurf$nrfnfurh hqrurnu\nrl hruhdtrurdnrlnrfr hfrutnp hpur]frph1 u/p.

$hnrp{urpfr 24-b1r dtutlp 1 t :00-frh, p. anpl u, ep. sup hutgl Jl hurughnr-rf:

Ctrqnr-h{h1L npn2mil' \.lrl' 3, 4htl 0:
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